
1. Which division sentence matches the
array?

a. 8➗ 2 = 4
b. 8 X 2 = 4
c. 2 + 2 + 2 + 2 = 8
d. 8 - 2 - 2 - 2 = 0

2. Which division sentence matches the array?

a. 9 - 3 - 3 - 3 = 0
b. 3 + 3 + 3 = 9
c. 9➗ 3 = 3
d. 9➗ 6 = 3

3. Which number line correctly shows
15➗ 3 = 5?

a.

b.

c.

d.

4. Which number line correctly shows
12➗ 4 = 3?

a.

b.

c.

d.

5. Which set of equations demonstrates how to
use repeated subtraction correctly to solve
24➗ 8 = 3?

6. Which set of equations demonstrates how to
use repeated subtraction correctly to solve
6➗ 3 = 2?
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7. Use any strategy to solve 25➗ 5.
a. 20
b. 30
c. 5
d. 1

8. Use any strategy to solve 36➗ 6.
a. 42
b. 6
c. 30
d. 8

9. Use any strategy to solve 42➗ 6.
a. 48
b. 36
c. 9
d. 7

10. Use any strategy to solve 16➗ 4.
a. 12
b. 20
c. 4
d. 3

11. Which is the correct way, using groups to
equally divide 9 bones equally with 3 dogs?

a.

b.

c.

d.

12. Which is the correct way, using groups to
equally divide 10 pigeons into 2 cages?

a.

b.

c.

d.
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Answer Card
1. a
2. c
3. c
4. d
5. b
6. a
7. c
8. b
9. d
10. c
11. a
12. a
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